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could be used to describe the end Of (x) Al Akl dolod) Caayl

behavior of f(x)?
Jim, £ = —eo, lim f(x) = oo
Jim () = e, Jim () =~

S i) =, ey =0

lim f(x) = oo, lim f(x) = —co



Given
f(x)=x*+1and g (x) = x — 4,
find [g o £](2).

O s
cg(x)=x—4s5 f(x)=x*+1
g ° f1(2) 2
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Solve the equation

J(2x—-10)2+4=5.

dlalaal) Ja
NV(2x—-10)24+4=5




log3 + 2log 5

log3 — 2log5

log5 — 2log 3

log3 + 5log 2

Express log 75 in terms of
log 5 and log 3.

log 75 aujlsll) e o
Jog3 slog5 alaiiul



Ja g G

No solution

Solve the equation:

log,(x + 3) = log, x + log, 4.

salalaal) Ja
Jog,(x+ 3) =log, x +log, 4



Find the area of the sector of the

ol LA g Uil dalice 2af

28.8m m?

4.8mm?

9. 61T m?

57.6m m?



State the frequency of

y = 3sin (Zx — g)

| JbSﬁ'l ..‘1.3‘.\
T

.y = 3sin (21‘—5)



h(x)=-3*+4
h(x) =3*+4
h(x)=-3*—4

hix)=37*—-4

Use the graph of the function et — 3% Al Ll LA sk
f(x) = 3* to write the eqution of the =3 i

graph below. ol lall Sl Aldlaa




Which of the following is a vertical

asymptote for the graph of

y = secx + 37

3 bl el Gy Gl Uad 303 Y Laa o
‘y = secx+3

1 duiliall Aol Guwldl ylaill



If g(x) =

3x3
xZ+x—

——— find g(-2).

.g(=2) 2y« g(x) =

3x3 .
g <M



el i Bacagia slady Al Jibadl ariid
[20,30] s 3

Use the graph to find the average rate
of change in the interval [20,30].
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Find the inverse function of

f(x)=x+2,x-7t —2.
X
O [)=g—gx#4
2x—8

O flx)= " x*0

O = X £ 4

8 —2x

8 —2x
x »

O =

x%x0

A Liual) Aal) ang)

8
X F -2 af(x) =m



Evaluate In (i)

el

1 £ - £
In (8—3) umil) dasd aag)



x=178.2m
Xx=392.5m
Xx=440.5m

X=224.5m

A competitor in a triathlon is
running along the course shown.
Determine the length in meter that
the runner must cover to reach the

finish line.
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Find the reference angle of TH
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Which of the following is equivalent

to sin @ + cot 8 cos 6? ?Sine‘l'cmg‘:“s‘g&@uf&mgi

sin @

2sin @

cos’ @

sin@ + cos @

sinZ @



Solve the equation:

4sinx = 2 sinx + /2 in the interval

o]

sddalaal) Ja
0.5] s s4sinx = 2sinx + V2
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If sinf = — A on the interval (:n:, ?n),

find secé@.

3. o, . - 5 . '
;(n,?ﬂ) a‘).l.ﬂ'lgamnﬂ = —Eul.‘. 13

.secél deji



O 0
O -1
o -1

2

If x = %, find sin(x + m).

sin(x + ) gl x = g oS 1



